107

(0 ¢) (rad)

=
S
o

-1 0 1 2 3

TP n (PCA to beamline)

a(d cot(d))

Ratio

=
<

1.UD

0.95!

T

1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit1000__ RECO

—— DQM_V0001_R000000001__Global__mkFit100dt__RECO

o F
T B
o N
o
-3
=
5
2
=
<
=] L..
o
2
>

............

..................................

Ratio

-1 0 1 2 3

TP n (PCA to beamline)

oo p./p

10°E

107k

T 0 1 2 3
TP n (PCA to beamline)

z

oo a,) (cm)

Ratio

..................................

-1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


